(Test No. 107)
Test Name : INTEGRATED COURSE M.Sc.
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Answer ALL questions,
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1. The accuracy of 4 value depend upon the
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2 A body of mass 20 ke is suspended by a rope 5 m long and pulled to & side
through a distance of 4 m by means of a horizontal foree. The horizontal force ie
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8. A body moving along the cirular path of radius R describes an angle of 607 at the
centre of the circle while moving from A to B, The displacement of the body 1
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Two balls cach of mass 0.6 kg moving in opposite direction with velocity of
8 misee. collides with each other and move back with equal velocity. Find the
change in momentum of the ball to the lefi.
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An object of mass 3 kg collides with a stationary object of mass 2 kg with
velocity 2 misec. After collision they stick together. Find the common velocity.
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Centre of mass does not depend on
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{a) ~mass of particle (b) position of particles
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(e) internal forces {(d) external forces
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If the angle of repose is 45 degrees the coefficient of friction is
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{a) lessthan 1 (b} more than 1
1 o0&} BED 1 o 8D



10.

11

On‘what factors the friction does not depend?
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() nature of surface in contact (b} area of contact
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{¢) adhesive forces (d) none of the above
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What is the radius of gyration of a body of mass 100 kg and moment of inertia
10,000 kgm*?
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The escape velocity of body of mags ‘m” varies with m as
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A particle makes SHM with PE =%le , Tte foree copstant ia
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A material has young's modulue which is 2.4 times than its rigidity modulus.
Then the Poisson ratio is
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